Addal247

SECTION - I
Psychology

«}/ mﬁ@q'qﬂwmm | 1. 'Progressive Matrices' test was

Y forfig a2
| developed by-

(A) W& | (A) Raven
(B) frersre [ () Ciliford
(C) Jri | S (Ciinan
(D) zHA ' (D) Terman

} ST 1 ¥a Hfed w1 AT ST | 2. Which stage is considered most
% - | difficult period of life ?
(A) VreTaTee | (A) Infancy
(B) arcgawe | (B) Childhood
(C) feremresen ' (€) Adolescence
(D) dgreren | (D) Adulthood

}/ S & ATAR T o, [SFAEs ‘ 3. According to Freud, '1d' is based on
VORI e . principle.
(A) 9@ | (A) Sorrow
(B) = | (B) Fear
(C) ardfashad (C) Reality
(D) g@ | (R) Pleasure

i

m ! W &% ®9 A FRd% vt | 4. Which psychologist used non-sense
&1 JA f6g gt | fma d2 syllables as a learning material ?
(A) et U (A) CarlRogers

- (B) faferam s (B) William James
(C) Tfererg (C) Ebbinghaus
(D) iR (D) Festinger
[J -2201] Series-B (3] [P.T.O.
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What is the relationship between

Intelligence and Creativity ?
(A) Zero

(B) Negative

(C) Positive

(D) None

Who propounded the Kindergarten
method ?

(A) Friedrich Frobe]
(B) Gardner
(C) Watson
(D) Allport

(D) All of the above

'Bhatia Battery' is used for which

test ?

"~ (A) Intelligence

(B) Personality
(C) Creativity
(D) Attitude
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9,/ feran =1 sifa Heeqol SRV &- | 9.

(A) 3TSiifae |
(B) 9l W ferad |
(C) wifg® fawm

(D) garTo faer |

Jﬂ/ﬁw & SO fag = &l e, | 10.

1 TG 4t el Sar g |
(A) e 1 fagr

(B) 3evaskdis i fogr
(©) afs % g

(D) <afewia =1 fagT

Jz./mafw,da'a,?ﬂﬁa ............... yHR | 11,

ﬂ@:ﬂﬁ, ZEeR § IRadT ol ®ed & o | 12.

[J-2201] Series-B [5]

I'he most important objective of

Education is-

(A) Livelihood

(B) Learning writing and reading
(C) Intellectual development
(D) All round development

Maslow's theory of Motivation is
also known as-

(A) Theory of Drive

(B) Theory of Needs

(C) Theory of Intelligence

(D) Theory of Personality

Achievement, relationship, power
R s W kind of motives.
(A) Biological

(B) Environmental

(C) Emotional

(D) Psychological

Learning is a modification in a
behaviour which is relatively- ..........
(A) Temporary

(B) Permanent

(C) Controlled

(D) Uncon&olled

. [P.T.O.
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................. F Wﬁm 9 ......... | 13. Child Development is a product
m%l R RlibIL of interaction between Heredity
(A) Wi forepry R ... .
(B) AHfgs: forarg (A) Physical development
(C) Ay ﬁﬂ»‘ra (B) Mental development
(D) =g (C) Moral development
-J'{ (R) Environment
., A U e |
frga BRI fer oy 5 5 = 99T | 14. Who gave the concept of Concrete,
(A) aﬁm—ﬂ; Abstract and Social Intelligence?
(B) f=pe (A) Thorndike
(C) = (B) Skinner
(D) =if5 | (C) Stern
(D) Terman
Mma‘rﬁﬁ%ﬂﬂr@mwﬁmﬁ 15. " When tw -
ST A9 Uk | o ' ' = © OPPOsIng motivations
W“‘ﬂﬁﬂ%‘, arise at the same ti
N ... ?m'%?t | their satisfaction at tl:e and 1w-»r::mt
is called - R
(A) w (A) Frustration
(B) 53 (B) Conflict
(C) wom (C) Motivation
(D) @@= (D) Stress
;.l?/ #H 91 HAfeacs 147071 8T § ? 16. Which is nota Personality Test ?
(A) T9r gieqor (A) Rorschach Test
(B) 16 dloUHo Gorae (B) 16 P.F. Questionnaire
(C) @ouodto * (C) TAT.
(D) fori-grem whe (D) Binet-Simon Scale
[J-2201] Series-B [6]
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Mm’ﬂﬁmﬂﬁﬁmﬁaﬁm‘mﬂm
T g8 ?
(A) 1920
(B) 1916
(C) 1911
(D) 1930

Mw—%ﬁﬁmmmmﬁﬁﬂﬁﬁaﬁ

7 ¥ oy faurs g/ fovar T ?

(A) Tftwm siear
(B) =red eifad

[J-2201] Series-B

[7]

17. Who gave

the theory of

Psychosocial' development ?
(A) Bandura

(B) Freud
(C) Erikson

(D) Jung

18. When was first Psychological lab

established in India ?
(A) 1920
(B) 1916
(C) . 1911
(D) 1930

19. Child-centred ed-ucation was

20.

~advocated by which of the

following thinkers ?

(A) Eric Erikson

(B) Charles Darwin
(C)B.E. Skmner
(D) Iohn Dewey

Piaget's which stage is related to
abstract and logical thinking ?
(A) Sensorimotor stage

(B) Pre-operational stage

(C) Formal-operational stage

(D) Concrete—opemﬁiéﬁal stage

& | :
i L of 4
_“ ;5 Jll: {IJ Ill“ bt
™ - M I"'Iuluu ||,I i ¥ .- &
I' J. r
) L
. |

Scanned by TapScanner




;/./16 o T U e, - wife e
75 (1Q) wier s &, vt W

23 gfavreneht faemeff 1 o7 g -
(A) SER gfg 1 siferen wam e £
(B) Tawg-a%q 1 Twem # favam
@ ¥
(C) Hifas - fomm %1 &t ygfa
Bl 2 |
(D) SHUS T+t

[J -2201] Series-B

’
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21

22.

23.

A child of sixteen years scores 75

in [.Q. test, his mental age will be

(A) 15 years
(B) 13 years |
(C) 12 years
(D) 14 years

Which of the following evaluation

comes in the continuous and

comprehensive evaluation ?

(A) Only Formative Assessment

(B)., Only Summative Assessment

(C) Neither Formative Assessment
norSummative Assessment

(D) Both Formative Assessment

and Summative Assessment

Traits of Gifted students ai*e -

(A) Use more cOmmon sense,

(B) Believe in understanding
subject matter.

(C) Have tendency of
thinking,

(D) All of the above

abstract

Scanned by TapScanner



Wﬁﬂﬂ ¥ § SH- gursier & | 2477 Which one of the following is the

Th TG HE§ ? primary agency of socialisation?
- (A) HEEEL l (A) Computer
(B) USHIfq® T (B) Political Parties
(C) rgaferera (C) Heredity
(D) 9iEr (D) Family
%ﬁf&ﬁﬂ 39+ feenfefa < faw fafis l 25. A teacher makes use of a variety of
Aferma fert 1 e H wa gy, fafu= tasks to cater to the different
YHR H FHT HT 7T FE §, 9 learning styles of her learners. She
BRI . | is influenced Iby -‘ g
(A) TER % T5-9fs faara & | (A) fhaerodr;ersMulhple Intelligence
(B) rEe Wi (B) Kohlberg's Moral
e ¥ | - Development theory.
() TR TSR - R (C). Vygotsky's Socio-Cultural
fagr< 9 | theory.
(D) 3 H A 1z Tel | (D) None of the above.
\2}/3{'1 fuarst &1 are faer 1 f9@< | 26. On which development is Jean
forg foaepTa R smenfia 27 Piaget's theory of child development
based ?
(A) wmifSie fasm (A) Social development
(B) g fashrd (B) Cognitive development
(©) Sifaeh fererrd (C) Biological development
(D) IR |l | (D) Allof above
ﬂoh 3 (LEC PPPPPPPPPPRRTPRRES gfshan g 27. Developmentis a ...... 8808 process.
(A) Hifed (A) Limited
(B) ¥dAq (B) Continuous
(C) YarcHS (C) Positive
? (D) EE (D) General
5 [J-2201] Series-B [9] | [P.T.O.
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M@W%@aﬁmﬁﬁmmﬁ 28. To wri

L5 C | (PR HEATl | - happen on the spot in that order is
- called -

(A) TS TP | (A) Reflective Journals

(F) T, | (B) Observation

() ﬁmﬂrﬁqa;_mm-@ I | (C) Narratives

Gen (D) Experiment

29099 L...... %qﬁwﬁwﬁﬁl%

29. Experiment is a method of

~ RBORI e :
(A) (A) Result
(B) 9R&egm | .
(B) Hypothesis
(C) Tagemm .
e (Q) Analysis
(D) (D) Subject

30. 'Thelearner, the learning processes

|
|
|
f |
1 eRfefat’ .
H@Jqﬁ% , and the learning situations' are
I
|
|
|
|

b4 main aspects of-
(A) A I H (A) Philosophy
(B) HAfa= (B) Psychology
(C) 7iford < (C) Mathematics
(D) Tore-w=itaam = | (D) Education-Psychology,

[J-2201] Series-B
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- SECTION - I1
English

Direction for Q.No. 31 to 33 : Direction for Q.No. 34 to 35 :
Identify the appropriate bpﬁbns fo?' Choose the correct article from the

| 'ven options.
filling in the blanks. 3&/§e % F

}’1-/% ive Rupées .....\.......... an excessive Eincs. |
price for this pen. (A) the, the
(A) is
(B) are
(C) was
(D) were

d‘ﬁ
32 Two and tWo ...........s io
o f\C}

(B) are

lllllllllllll

(C) the, a

(C) makes
(D) make

3 }( M'Oney mak%s ﬂ‘e sene skt .j*i:,:.‘ ¥ . j . 2.

. Tl 4 "'1 ) i _ - | d :
Nl ) R 1 . -. b | EESBEBE |". . = II - - 4 : .
AL AR A Rpatm e ii"#'&" y - 2 I
|. T

III L 3 r
= T AT i
Al . . : - n o & 0 ' b
[ ] E ! . i) i #E -‘._. ‘I'-_-‘_ ot
3 .J'L 3 ] = II_.._: _,, "-'"""‘-!."_'_5.;4_.:"'-:! "
. I L= N = = " B 3 i I = = F
e | i i [ ity B B 'TH IR
[ = ﬂme ! Fe B B e B BRITCTLLIL ¥
=y i I L R i . __b._ .g.___.__ - . L]
B 2 B 3 R ) o e _i' __.__F_J..E'_-..l.--.: S =) ._‘__'!
¥ LA I-_ L i b -
i -
‘; |

k i
¥ "
i ] T I
i |" R

- ) ] & .
- P e Ay ¥ Tman
K ' | Ve YR g’. 211
- " ) . LS e e R
l I -II N -
- = AN ¥y -
4 "I
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}/ Sl e obey the Constitution.

(A) would
(B) should
(©Q) must
(D) could

‘?/)B./ ........... God bless you with wisdom.
(A) Should '
(B) Can
(& May
(D) Would

Direction for Q.No. 39 to 40 :

Choose the correct form of igm'ce.
39”7 Hereads a book.

(A) A bookis read by him.

(B) A bookwas read by him.

(C) A bookwas read by me.

(D) A book is read by me.

}0./ [ will invite him to tea.

(A) He will invited to tea by me.

(B) He will be invited to tea-‘by me.
(C) He will be invited to tea by him.
(D) He will invited to tea by him.

(J-2201] Series-B
"

Direction for Q-NO- 41 to 42 :.Fill
in the blanks with appropriate

' on for the g1 estions.
conjunction for the grven qu

(
(C) but, not only
(D) None of the above

iiiiiiiiiiiiiiiiiiiii

miss the train.
(A) before

(B) as-then

(C) lest

(D) in order that

Direction for Q.No. 43 to 44 :
Choose the correct plurals from the

| iven options.
Mﬁral of 'Epoch' is

(A) Epoches

(B) Epochs

(C) Epoch

(D) None of the above

| 44. Plural of 'Negro'is
(A) Negros

(B) Negro

(C) Negroes

(D) None of the above

[12]
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Direction f or. Q.No. 45 to 46 : 4s§/ She says to me, "I was unwell".
Identify the appropriate alternative | i (A) She said to me that she was
from the given options for ﬂllmg in

abis oty unwell.

the blanks. R ! (B) She tells me that she was
ﬁ,/God helps those who ...... unwell.

‘themselves. s .1 (C) She tells to me that she wa

(A) do Bt unwell. .

(B) create TN (D) She says to me that she was

(€) help & i - unwell. N

(D) try -y B

B i i Dtrectmn for Q.No. 49 to & 1 i
Where there is a will, there Choose the most appmpﬂ‘
bl qE 1y o igi L3 ﬂreﬁoétt:on out of the af“':?"‘*_f'f"
(A) was e | chmces. | R f
(B) 1 ' i "f_vehved here.... mahy d wu
(C) could Adfroi v 28
(D)

Choose the coi'r&&t Gp:tmn Oﬁ

direct form of speefg b i *‘11 i ,ﬁw ) -.
37/;11(3 said to me, "I have {a tflc;lﬁ!m:l mg

Shimla". i JLE‘
(A) He told me that }5},

frlend;mShlmla.. .
(B) He said to me that I h

ave a ‘

friend in Shimla. _"“ m.
(C) He told me that I have a
~ friend in Shimla. (ofL: I i f
(I) He said to me that h@ hﬁd

friend in Shimla. 0 3“

3 L.-"L @ li":“ '_II_.i |
l'!:Lr':' l! X III L .

[J-2201] Series-B
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Direction for Q.No. 52 to 53 :
Choose the word which is the most

opposite in meaning to the word
printed in CAPTIALS,

52 HOPE

(A) Desire
(B) Belief
(€C) Concern
(D) Despair

53/ VIRTUE
(A) Vice
(B) Character
(C) Honesty

(D) Integrity

Direction for Q.No. 54 to 55 :
Identify the appropriate alternative
Jrom the given options for filling in |

the blanks. '
;}4/1 words in capital letters.
L S Lo e go there 59 INN ATE
(A) May not
(B) Can not 4, Wy
(B) Inborn

(C) Should not
(D) Dare not

llllllllllllllllllllll

serve our parents. 60

(B) May
(C) Should
(D) Ought to

[J-2201] Series-B [14]

jff

Direction for Q-No. 56 to 58 : Pick

up the correctly spelt word.

~ (A) Disciplane
(B) Discip
(C) Discipline

(D) Disiplain

aine

57/ (A) Perform

(B) Proform
(C) Prefrom
(D) Perfrom

5,6./(A) Discipal

(B) Disciple
(C) Dicsiple
(D) Dicsipel

Direction for Q.No. 59 to 60 :

Choose correct synonyms for the

(C) Incidental
(D) Acquired

COPE

(A) Hold
(B) Refuse
(C) Manage
(D) Yield
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SECTION - III
Hindi
6¥. ‘T T TR, ST T SR &1 | 65 fera a1 ferdroror =/ &2
. (A) feraw
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77 Tﬁ—ﬁ?'ﬂﬁ'ﬁmaﬂﬁﬁmsﬁa ﬁl/F‘ﬁTﬁm'mqaﬁaﬁ?-mW%7
¢ fahed ST =TT HL-
(A) &8
(B) T&T
(C) HHURF
(D) STFATHE

75/ 378 A S A 7 | et
(A) R gE Ve
(B) eaTH
(C) \EH

(D) =T
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(D) FrEAY

F= I.'l- !..::';:- F—. —
I75MR1 1 -
P il T
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SECTION - IV
Mathematics

%998 q4 fodt 2w 1 SHEE 30.3 : 91. In 1998, the population of a
fafer ot | BE-3 He 30,3 fuferr country was 30.3 million. The

number which is the same as 30.3
million is-

(A) 303000000 ; ~ (A) 303000000

| S
oy

(B) 30300000 A ~ (B) 30300000

(€) 3030000

(D) 3030000000

FT. L ,
: ) £ SR
. 1 $
A ) g
‘ L IHLI . ' .u'
9 aa ehall s 11 -
I I B L]

I |J. H

| 'I

|'ll-\." :
) . 5
= QI TIT
440 cm © AR 3
! -.r.-|-=.l-- . e 1 i
1

o S
|
= .'-‘s;l BAFIFrrs| i =
o HMICAl T T
) .} o s -
: L bt . J
iz
.
a
L
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y i 15
93. = %t goa =6 =1 9 ST feran /93./Finc1 the equivalent fraction of 35
7
W7 with denominator 7.
2
(a) 3 :
7 ({S) -
5
B) | 2
7 (B) =
3
9 3
6
o 6
D) = D) 7

94. TR & 1 376 &1 T&A 24x, 9 A

9}./if the three digit number 24x i

fowiferd & St & @ 'x' FT WM SFH | divisible by 9 then what is th
BRTT ? | ¢ value of 'x' ?
AV : (- -

(B) 3
(€) 9

(D) 4

2: o .'..In.ll"
95. -1-:9-1-4—5— thﬁ%—;_ Al

1 +tan”45°
. W s

&S e AT

i I'

S LIS
eali A 1

(Y Wk R

T‘;l .'!_ . Al i

£ S

(A) =8

\ 4 L1,
' Vi i S

LY f P
: S

o fai ke 3

1 T

i
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3+ o

Yo

498

06. 25 TR F § 790, wifor & i | 9‘6./ 72% of 25 students are good in

@ ¢ | fhy feeneff nforg + wfa 7 mathematics. How many are not
TEd § 2

good in mathematics ?
(A) 8 | (A) 8
(B - R (B) 7

(Cen Q) 12
(D) 9 Ly

¥ r24%|3:|‘ 9}/The PI'GduCt of two whole
: A . A8 numbers is 24. The smallest

1 (R A

(B) 9
Rl

. A

pdss_ible sum of these numbers is-

(A) 8 orl gl

(C) 10
(D) 12

iy [
| 'zll. AN LS LN
b
Py
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/‘qﬁTanA Cot BW A+B=....... | 199 If Tan A = Cot B then A+B= ....... 24

(A) 90° - |

- o

(A) 90°
(B) 180° (B) 180°
(C) 360° (C) 360°

(D) 45° | (D) 45°

100. H&T A (0) B- ' l}@/’l‘he number Zero (0) is-

; |
(A) Tawm e (A) Odd number

(B) 3A4rH & | | (B) Prime number

(C) wihfas He (C) Natural number

7] . ST
(D) qui "&A

101. Ush FeigH a1 @ o9 2,120 § af§ | 1047 The cost of a flower vase 1%?212. |

| £
qHMER 39 10% ®IH T o=ar 8- If the ShﬂpkeePer sells ﬁ(t a’1? j
' E’* '1‘ i : |
1.. i-ﬂ- '-.. . .f i ." R Ul
1 fersha e 41 2 2 . ofsl0%: "‘
| L i ‘ : % . ? i : e flbtoe ) B e Y R A & R

. ; l_ ik ol |F { 1
ad i N 195 ot

(A) ?138 e 1

T

(B) ?1
()
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W(L 3):@-{(4: 1)® s HIgU A | 102. Find the distance between the
FITL points (2, 3) and (4, 1).
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%@@Wﬂﬁwmmﬁ
fSas fawoll &t eramdal 10em 3R

8.2cm ¥

(A) 82cm

(B) 82cm?

(C) 4lcm?

(D) 41cm

106:3,2,5,6,4,3,4,5,4 %1 9geh © -

(A) 3
(B) 4

(D) 5

107/ Tq4S & oI 10 75°, 90° a%ws“ | |
% Tt e For Em- Y

(A) 90°

(B) 955

........ ey Bl

106. Mode of 3, 2,5, 6,4,3,4, 5,4 is-

rhombus whose
»

105. Find the area of

diagonals are of length 10 cm and
8.2cm.

(A) 82c.m

(B) 82cm’

(C) 41cm?

(D) 41cm

’ i . y ’ .L i 1.-
7 Three angles ofa quadfitg
;. lateral
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gl ‘ 1%8 product of two ne"ga@w«&

integers is-

(A) 0 i
(B) 1

(C) Negative

(D) Positive

B ‘\‘

LU O | ' & |
109. 0.0016 =i wt‘” 194&* square root of 0.0016is-

(A) 0.04 (R (A) 0.04
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111 63606 & 6 % TFig Tl %1 | 111. Sum of the place values of 6 in the

RIUES number 63606 is-
(A) 60606 (A) 60606

(B). 6609 (B) 6606

(C) 6066 (C) 6066

(D) 18 (D) 18

H{ﬁ HEAS 1 HewH FuvadE 28 997 | 112. HCF of two numbers is 28 and
ST STXH HHIGE 336 § 1 e T | their LCM is 336. If one number

FAI12Q, dig@i gen g - | is 112, then the other number is-
(A) 56 | | (A) 56

® 70 A N _N_L (= 7% | =)
(C) 84 %3 G, ‘-_ l?_ﬁ_s_\__n_

(D) 98 (D) 98

113. -3 9 B W -8 | =Sl quliehi aﬁ 1137 Thenumbemfmtegers less tha

&A1 §-

- "-

(A) 2

(B) 3
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A
5

114. =R eﬂﬁaﬁ TR Bt gy S ot 11/4/ The least four digit number which

?, 8- OO | is a perfect square is -
(A) 1024 (A) 1024
~(B) 9801 | (B) 9801 &)

(©) - | (C) 1000
(D) 9861 ' (D) 9861

B "‘r:

]J»Sﬁ;he sides of four triangles are

. given beloﬂv. Which of them forms

a right angled triangle 7=

(é.; 20cm, 22¢m, 24cm ( 3

(D) 19cm, 40cm, 41cm

£k | | 7 :.m: _:r' :
GEal 1 AT B 11 }/T he mean of first five whole
4 T _J.'_ ‘F i ;- rlll|r 11I'Lr_ ..’ [
(AT U ) be v A
e | numbers is- /gl

':‘I ?.g"x,silﬁ
| (A) 5
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117, (3° +2°)x5° Sreet HOr T B E-
(A) 0
(B) 1
() 2
(D) 25

iiiiiiiiiiii

16,13, 17, 14, 15, 16, 15, 14 1 e

x%lﬂﬁ8$WW18#{ﬁmm,
3 SiFS I WEH y B TAyY F
AT 1 AT B- '

1y-/6n solving (30 + Zo)x 50 we get. 3
(A) 0 g,
(I0)1
(C) 2
(D) 25

}ﬁé— axis is also knowmn as ............-- .

(A) abscissa
(B) ordinate

(C) origin

quadrant

{ian of the data 13,

8,15, 14, 17, 9, 14, 16, 13, 17, 14,
15,16, 15, 14. If 8 is replaced by 18,

then the median of the data is V.

.
.
L 1.!" 1
i
i

What is the sum of the values of

w

\ A) A N
S -. I'-r
"l i
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|

‘ 1Wﬁ T Tﬂ? g3 a:[d’qa &1 | 120. Which of the following represents
k . “the perimeter of a sem__'ibi:g:lg 4

(A) 27zr+2r -
(B) zr+2r

(C) 2zr
2
(D) %—-+2r

Addal24

¢ ]
e &) 0
. .

having radius 'r' ?

(A) 27r+2r " all
L
(B) #r+2r ﬁ
&'}
(C) 2x¢ '
2

: nr
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SECTION - V
EVS (SCI), G.K. and EVS (SST)

%ﬁﬂ?ﬁwwmm%? 121 When is World *Science

celebrated?
(A) 28 wEd (A) 28" February
(B) 10 W&t | (B) 10 February
(C) 10 7aw=r (C) 10" November
‘ (D) 8 #rd (D) 8™ March

%ﬁw A srfeerat &t ®A Te& fohat | 122. How many total number of bo’"’

are there in Human body?
(A) 206
(B) 205
(C) 208

L
e

? lq an]har dance is from whick
| "~ district of Himachal Pradesh ? .
(A) Kangra

(B) Chamba

(C) Shimla

(D) Sirmaur

1245 1 T Ao Fretfefen § @ | 124

.Which Instrument measur

DT I § ? Humidity ?
(A) SR |

(A) Barometer

(B) T -

Hygrometer
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1I .4 EICIESS G EIKIRC G v? 125. What is the name of Sugar found

in milk ?
(A) g™ (A) Sucrose
(B) WM (B) Fructose
(C) T (C) Glucose
(D) AR : | (D) .Lactose

y{ 1 TS 61 HEATH TS H1 o1 7 126. Who was founder King of Chamba

State ?
(A) e foe (A) Champeshwar Singh
(B) W& THA j - (B) Meru Verman
(C) wifedt (C) Sahil Verman
(D) WraaE - (D) Saatvahan S
127 Fice frg @d ﬁ Wﬁ%ﬁ! g7 127. Theterm 'double fault' is associated
. | with-
(A) 2 (A) Tennis
(B) ©US Sl | (B) Hand Ball
(C) <l g (C) LongJump

(D) Tl . (D) Rugby

}2( ==gr et f&d & el &1 @9 W | 128. Indrahar Pass is situated on the

fea &2 border of which two districts?
(A) fe=TR-fere | | (A) Kinnaur-Shimla
(B) FATST-T : (B) Kangra-Chamba
(C) =wl-Fhee]. (C) Chamba-Kullu
(D) e} T | (D) Kullu-Lahaul
[J -2201] Series-B [31] Susitie? | | [R10.
oy

i
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129. ‘Fwdt sitem i e s A wfeg | 129. 'Kufri Jeevan and 'Kufri Jy0 _
feal &- two famous varieties of- ]

(A) ZRH (A) Tomato 14
(B) wRm % (B) Almond
(Q g = (C) Potato }
(D) SR (D) Grapes 1

}%1357 =1 fadie few @@ 31 @@ ¥ | 130. On which date, the revolt of 1¢

e n? started from Meerut ?
(A) 10 =2 1857 (A) 10 May 1857

(B) 16 31U 1857 (B) 16 April 1857
(Q). 11 I 1857 (C) 11 July 1857

(D) 26 {3 1857 (D) 26 June 1857

(A) Daulat Khan Lodhi
(B) Sikandar Lodhi
(D) None of the above

132. The author of "India Divided":
~ (A) MK.Gandhi |

-
\ P
i1 e

A T ! TR
"' -y ' hm
TR U ek
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(A) TRIHT Tieh

(B) SO &1 Ve !

(C) & TR faeren

(D) gu™ = A
1%—@@%@%%7

(A) e - 350, ﬁ
(B) WfAYM & W IV-A §
(C) wfaum & s 11

(D) dfaur & s v #

136. n@amﬁﬁﬁﬁm(mh&qm
T § fega €72
(A) F
(B) SWrETS K )

() et v
(D) WERTgY I
[J-2201) Series-B o

3 L + F
B | i '-. J i 3 |'g| I..
) :--
|

133. Who started Non-cooperation
movement ?
(A) Mahatma Gandhi
(B) Jawahar Lal Nehru
(C) Bal Gangadhar Tilak
(D) Subhash Chandra Bose

134. Who is the Author of Vande-
Mataram ?
(A) Mahatma Gandhi
(B) Bankim Chandra Chatterjee
(C) Rabindranath Tagore
(D) SharatChandra Chattopadhyay

AR WU AN W ETRITY W R WD Ry
i

—| - ' "Ii;'“.‘ i = | rf:;'; | o N
Al Al | 135, Pﬁn@aﬁl&mﬂ Duties of Indian

citizens are mentioned in-

(A) PartIV of Conﬁtitution
(B) PartIV-A of Constitution
(C) Part III of Constitution
(D) PartV of Constitution

136. Rashtriya Indian Military Gﬁﬂe@g_
(RIMC) is in which State ? ;
(A) Kerala AL
(B) Uttarakhand qiut
(C) Himachal Prade:
(D) Maharast

*,' )
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141.%%’“13@3?[%31%313“{%]3 'Iwhich Himachali was awarded

WA e TR ok e e India's First Param Vir Chakra

T 17 posthumously after Independence?

(A) fova HuR Sl Ay v

(B) e iRl TH (B) BabaKanshi Ram

(C) o fawm == ' | (C) Captain Vikram Batra

(D,) SR 1Y N | (D) Major Somnath Sharmgj_k 40
1W i EB‘:I"T g feheg & 5 | 142 Deficiency of which vitamin

2 | causes Rickets ?

(A) feeifga A (A) Vitamin A

(B) faerfaa B - | (B) Vitamin B

(C) faerfm= C | (C) Vitamin C

(D) faaf#a D (D) Vitamin D

ST  SemEaih jor: ”' ﬁlﬁmh&nd‘s blrthday 3
e ﬁ’“}ed as National Sports Day
'in India-on which- among the

following dates?

(A) 29 [eTg (A) 29% July
(B) 29 37T (B) 29" August
(C) 299 (C) 29™ March
(D) 29 A | (D) 29" April
;l-{ 3 wﬁmmg? 144. Arya Samaj was fDundEd;m oar-
A) 1875 " *"‘? 4
(A) 1875 - - ( ) P
(B) 1880 W e b}
(C) 1885

(D) 1890
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145. TeioRosfto &1 faeqd &Y 8-
(A) fafFawrs Yafeam 19
(B) g UAferm i
(C) < Yaiferam T
(D) e ¥3fererm

Waﬂnﬁﬁmq%ummaﬁﬂ%?
(A) TO% HeUETY
(B) wa fH7 wIvart
(C) TEe TreiahT
(D) 78 9 I3 &

%wﬁgﬁnﬁﬁmmﬂﬁm
ﬁﬂﬁ%fiﬁ \Iﬁn‘# ,..q:;ﬂ R
B EBE B

id-.,.
EMI L. B

14871989 So T YH YT et STa A
Q&R {8 fhet ?
(A) #ft &y
(B) it StaRd fertor

(B) Light Petroleum Gas
(C) Low Petroleum Gas |
(D) Lime Petroleum Gas :‘;r'
: r"]::l
146. How is the present Gove r

"1 i 1 b‘
.

Maharashtra?
(A) Devendra Fadnavis

(B) BhagatSingh Koshyari
(C) Rahul Narwekar §
(D) None of these

I A8

147.Chamera Hydroelectric Pro]

A e

| "mtuated on which River ?

“(A) Satlu]
(B) Yamuna
(C) Beas
(D) Ravi

148. Who was presented in 19f

first Pahari Gandhij Baba Ka
Ram Award ?
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which part of Himachal Pradesh ?
(A) Bilaspur

(B) Lahaul

(C) Kullu

(D) Una

. Among the following which is the
most densely poPﬁlated district of
Himachal Pradesh ?

(A) Una

(B) Chamba

(©)

Bilaspur

I '-.lll .

- 4
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